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HUIHT R | 37 g Tl -3 % ThIT & YATRIG |

Td T e 7 | T 3 39 aAetifeRa R B,
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! TFIH L i dTehd W € 7 | FHSH o fafay
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A<t 2 | T % T & ogsa ot 3R
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M o Srefavarar, yAaqut 7 gferarrt fommd,
W 3 3T O g freht B | fmm A am e
T 2 | 9T i =Tfe fop ag fosm <t ga g
T I TS BT H G e |

1. ‘EXWs Yise ¥ HARNG 8
(A) &eft & foTu Stfact <t @
(B) 3TETE UI=] HIATH ST
(C) TIY 3TN IERE e
(D) UTE H T 31Taet 6l aE

2. ‘Iuiieh-Tomae Yoy | I R
(A) d=rient grT femarm R faeaa
(B) RN ferea
(C) %oy e Heferd ferma
(D) WreTeHsh =

3. foum uma i e@ o<t vt safere et
TS 8 AT 9 o1 § AT
(A) Tt viifees glaensti @ o= 2 |
(B) Torpa v 1 @amft 2 |
(C) IAMeT s &7 U eEaald HL Hhal & |
(D) Wehfa 3 sfersTd <1 faii R |

4. e Fema-dgfd 9 T &1 99 S
IR I fohan @ Top 38 it firefl 2
(A)  vHIU Sfgard fe=mon @
(B) @=qferd Jfa=H &
(C) T=H |Tehieh TOasT &
(D) YU frE Sftu=iERarsti &

5. fova & afaRad o 1 IHE SR 3
(A) Tosm i Stem @ afrgar
(B) JITARITA Ud TR |11 o1 faehrd
(C) Toa--Ycd shi WIaAT o foehd
(D) o =t fersfier sifmat
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& (6-10) : I3 feu T IR W el B | 3
Tl o I E |

Directions (6-10) : The questions are based on

the below shown graph. Answer these
questions.

TT%h | Teh TUET H 7 BT oh 31q8TE R A &
37eh1 ST JTUTT ST TRT R |

The graph shows the ratio of marks of History
to Geography of 7 students in an examination.
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6. sfaem/yqiel & 3ifhan U@ 3R
LT ST T I 2

The difference of the maximum ratio and
minimum ratio of History/Geography is

(A) 0.90 (B) 0.45
(C) 1.20 (D) 0.50

7. BE 4 H YA H 60 36 Wl | 36k
3fceTa 1 37 &
Student 4 got 60 marks in Geography.
His marks in History are —

(A) 75
(B) 48
(©) 0 W IS 721/ None of these
(D) 68

1 8. TorcH BT A e 1 3T 3faeTE § STe

37k 3fid T 2
How many students got more marks in
History than in Geography ?
(A) 4 (B) 2
< 5 (D) 3

9. fr= ® @ foF Bl 1 T R smE
3fre | W 37 firet 2
Which of the following students got less
marks in History than in Geography ?

(A) 1,4,5,7 (B) 1,3,5,6
(C) 4,5,7 (D) 1,2,3,6

10. S H B 3 ¥ 4 < 0L 37 oh! Ui
§gd 8 -
Percentage increase of marks in
Geography from student 3 to 4 is —
(A) 90
(B) 15
(C) 3Tehg 3194TH / Insufficient data
(D) 20

ﬁé?l (11-15) : UTH <hl HAEIIT frferfaa
9@%3?1'{%{3 :

Directions (11-15) : Study the graph and
answer the following questions :

e A N IeTEA Hifgw TA |/
g0+ Production of Raw wool in Metric Tonnes
76
51 7 73
704 68 Z
1
1T
3557 7 53 % z % ?
Voo h U 7 7 )17
» T 2 2 = X 2 8 8
2 2 % 2 & 2 2 2
S &8 &8 &8 &8 & & &

11. 3oTed | fUae av &t qa 8 stfasa

The maximum percentage decrease of
production over the previous year was in

the year :

(A) 2013-14 (B) 2018-19

(C) 2014-15 (D) 2017-18
BETA21
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12.

13.

14.

15.

2014-15 " = 3 1 3dTET 2019-20 <

3ATG bl a1 |
The production of raw wool in 2014-15
was of the production in
2019-20.
1 1
A — B) -
(A) 5 (B) 3
3 2
c) = D) =
©) 2 (D) 3
= 1 h IcUTeH H IAAH Jfeg T Y AT ;

The maximum rise in the production of
raw wool was in the year :

(A) 2016-17 (B) 2017-18

(C) 2019-20 (D) 2020-21

Ug IR AT o IcATEH bl o | 31f<m
IR 1 H F I 1 IedTeH %
EERIRIN

During the last four years the production
of raw wool increased by % on
the production of the first four years.

(A) 19.8 (B) 26.8
(C) 25.0 (D) 222

3T T o SR 3NEd IcaTeT oA

The average production during the eight
years was

(A) 50.0 MT
(B) 67.2MT
(C) 52.8MT
(D) 62.5MT

BETA21

i W (16-20) : & TE difeteRt & ER W
Frferfaa agat & 3w S

Directions (16-20) : Read the following table
and answer the questions given below it.

e Yeqa g AN A1ides HHITA
Yearly Commission Earned by Five
Salesmen
a9 |  2015] 2016] 2017] 2018 2019] 2020
(Year)
Hegaa
Salesman)
A 27350] 28,500] 25200| 29,.800] 24,600 27,000
B 26,850 27,900] 27,400] 28,000] 28500 29,000
C 26200 27,800] 28200] 29,100] 29.400| 30,000
D 27.850| 30,040] 29,800] 30,060] 29,800| 32,000
E 28,640 29,000] 28750| 30,000] 29,750| 29,700
ANT (Total) | 1,36,890 | 1,43,240( 1,39,350 | 1,46,960 | 1,42,050| 1,47,700

16. T 5 & form o o Topelt oft e g 3t
e 3T A I hT TR SRR S 7

In which of the following year was the
difference between the highest and
lowest commission earned by any
salesman maximum ?

(A) 2019 (B) 2017

(C) 2020 (D) 2018

17. a9 2019 § ¥ D gR1 3R e
A g AR wfivE &1 @ R
fcrerd & 2
In the year 2019, commission earned by
salesman D was approximately what
percent of commission earned by A ?
(A) 52
(B) 18
(©) 0 § IS T8l /None of these
(D) 21

18. formad # gewia C gr 31fdia wHivE foset
9 <1 qor # arferehan gfg caifar 2 2

In which year commission earned by the
salesman C showed the highest increase
that of the preceding year ?

(A) 2018 (B) 2016

(C) 2019 (D) 2017
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19. ¥ 2018 § B W1 HHI¥H dfal HeqHl
3t a9 % PHoT HHSE BT T feha
e o ?

In the year 2018 the commission of B
was approximately what percent of the
total commission earned by all salesmen
in that year ?

(A) 80

(B) 19.05

(©) 0 ¥ IS T81/None of these

(D) 98

20. T ToEmT &1 2018 T HHIRH, 2015 i
T § Iy gfg gt 8 2

Which salesman’s commission in 2018 show
the highest increase over that in 2015 ?

(A) D B) A

(C) C (D) B

e (21-25) : & 78 arfetert/amft 1 SYdS
1A L a1 Fi2 fou gt o 3G
Directions (21-25) : Study the table and
answer the questions given below :
faft= vt # ar IR S A g w6
& (Yhel #)
Number of accounts opened (in hundreds)
in four Share broker in various months

IR

st/ | TR/ |/ [Jems/ |/ R/
Share May (June| July | Aug. | Sept.
Broker

TS / 25 | 28 | 35 65 55
Angel

v/ |22 | 18 | 32 | 30 45
Sharekhan

SRiar/ 30 | 45 | 50 | 35 40
Zerodha

Yeg@/ |35 |42 45 | 50 | 60

Tradebull

i 21.

22,

|23,

24.

25.

fepe IR STt § gt Wl s 3fiEa qe
HEOH ® 7

(A) g9 (B) T

(C) W (D) I@H

In which Share broker is the average
number of accounts opened the maximum ?
(A) Tradebull (B) Angel

(C) Zerodha (D) Sharekhan

S T ol Wl h T <1 31Ed @
H gol WAl ! T&AT o 19d T qTHT
TeRaHT ST ShH =T SITET AT ?

The average number of accounts opened
in Tradebull is approximate what per cent
more or less than the average number of
accounts opened in Sharekhan ?

(A) 45.90 (B) 57.82

(C) 50.69 (D) 60

freferfea & @ fopm wd & gt @@l
G s 31Ed HgaH @ ?

(A) 3T (B)

(C) W% (D) Toamw

In which of the following months is the
average of the number of opened
accounts the maximum ?

(A) August (B) June
(C) May (D) September
I H Gol @l ohl T 57 H Gol @i ahl

T E TV feha SfcreTd R 21 ey ot 7
The number of accounts opened in Aug.
is approximately what per cent more or
less than the number of accounts opened
in June ?
(A) 34.6 (B) 335
(C) 40 (D) 353
T3 T Fcrer deh Totet § ol @l <hl T d
SRIET H Gl WAl hl & ol ST F 7 ?
What is the ratio of the number of
accounts opened in Angel to that opened
in Zerodha from May to September ?
(A) 2.25 (B) 1.5
(C) 1.04 (D) 0.75

BETA21
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26. THHfEAT HETd B
(A) SRR (B) TSHIfd
(C) TfUrd (D) Taferean
Charakasambhita is a work on
(A) Architecture (B) Polity
(C) Mathematics (D) Medicine
27. WRA § W& & el 1T T &R
TSR T&! 51 1 8 2
I AEmEEd
II. 3T
. 3AREH Raerst
IV. Soqarel
What is the correct chronological order
in which the following rulers ruled in
India ?
L. Sher Shah Suri
II.  Akbar
II.  Ala-ud-din Khilji
IV. [Iltutmish
A LILULIV (B) IV, LI, 11
(©) uLiv,Lao () I1v, 0L LIl
28. T 18 & O T e o et 3 2
(A) (B) TR
(C) Y= (D)
Which one of the following saints was
contemporary of Shivaji ?
(A) Namdev
(B) Tukaram
(C) Shankaracharya
(D) Chaitanya
29. TS o Y TE-T SIS iF o 2
(A) wiefaeqs  (B) rE g
(C) e fam (D) e anA gfeem™
Who was the first Governor-General of
Bengal ?
(A) Lord Lytton
(B) Lord Clive
(C) Lord Ripon
(D) Lord Warren Hastings
BETA21

+ 30.

31.

32.

= 1 8 o w1 e wEl AR 2 2

(A) AD.622 - yHemymHIYET
(B) B.C.261 - wfeinyg

(C) AD.1709 — 3fiursie &l gy
(D) AD.78 - 3 Had sl JEHATT

Which one of the following pairs is
incorrectly matched ?
(A) AD.622 - Commencement
of the Muslim
Era

The Kalinga
War

Death of
Aurangzeb
Commencement
of Saka Era

(B) B.C.261 -
©)

(D)

AD. 1709 -

A.D.78 -

=7 & Rl WA % “TUg 3o 897 % AW
ST ST 8 2

(A) THUSTE WEaT (B)  QTaTwTs ISt
(C) Fema sl (D) soq, HY. St

Who among the following is known as
the “Grand Old Man” of India ?

(A) Pherozeshah Mehta

(B) Dadabhai Naoroji

(C) Surendranath Bannerjee

(D) W.C. Bannerjee

T 1915-16 H foheeh Aqca H &1 819 &1
AMIETS ?

(A) Taeres 3R feftmag aret

(B) T s 37 eArehHT faereh

(C) foeres 3t snfer< o

(D) Taetes 3R AT ATelud T

Two Home Rule Leagues were started in
1915-16 under the leadership of

(A) Tilak and Bipin Chandra Pal

(B) Annie Besant and Lokmanya Tilak
(C) Tilak and Aurobindo Ghosh

(D) Tilak and Lala Lajpat Roy
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33.

34.

Rl IT AU o1 AW Toher feam 7

(A) FuTYEg S

(B) TER 9

(C) TgTeAT meht

(D) ETEA 8%

Who gave the slogan ‘Do or Die’ ?
(A) Subhash Chandra Bose

(B) Sardar Patel

(C) Mahatma Gandhi
(D) Jawaharlal Nehru

e = foeT ot
a. o gqS 1. @t faeesr=<
b. Tmwfem 2. A wEEd
c. 3 EE 3. THHET ™
d. domgs 4. . ofiee
SUIE g
5. e g
Match the following :
a. Brahmo 1. Swami
Samaj Vivekanand
b. Ramakrishna 2. Dayanand
Mission Saraswati
c. Arya Samaj 3. Ram Mohan
Roy
d. Satyashodhak 4. K. Sridharalu
Samaj Naidu
5. Jyotirao
Phule
a b c d
(A) 3 1 2 5
B) 2 3 5 1
<) 3 2 1 5
(D) 3 1 2 4

35S.

36.

37.

38.

UM | Eae! qiSAT fehdeh 3cate
% e ufag g 2

(A) e (B) e

(C) TgWmfEm (D) 3@

The ‘Khetri Project’ in Rajasthan is
famous for the production of

(A) Copper (B) Zinc
(C) Aluminium (D) Steel
ST TS, S8 = TR TER - o

7L UG B ST e ol 39 Ug o1 JdTe
forq fem ¢

(A) . Tsig TG

(B) AT E®

(C) .. FHuert

(D) weeT¥ Hdraan

When Subhash Chandra Bose resigned
from the Presidentship of Indian National
Congress, the seat was offered to

(A) Dr. Rajendra Prasad

(B) Jawaharlal Nehru

(C) J.B. Kripalani

(D) Pattabhi Sitaramaiah

HeATe T - forstett aiE s e A e i 2 7

(A) o (B) 3o

(C) =™ (D) T

The Salal hydro-electric project is
located across the river

(A) Chenab (B) Jhelum

(C) Beas (D) Ravi

g forya g e -

(A) 23 TqamR s (B) 219 &I
(C) 22fcamaR=l (D) 18I

Vernal Equinox takes place on
(A) 23" September

(B) 21* March

(C) 22" December

(D) 18" June

BETA21
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39.

40.

41.

TSI U 3 feord 2

(A) ufSem el (B) HEA U

(C) (D) @

The Kaziranga National Park is situated
?JIX) West Bengal

(B) Madhya Pradesh

(C) Kerala
(D) Assam

Fraforfga @ @ %= o fearerfh 78 T H
afeatd 2

. Ed

II.

111

Bkl
V. TeEd
(A) HNI3WIV  (B) I3WII
(C) W3IARIV (D) 13RI

Which of the following are rivers of the
Himalayan river system ?

L. Kaveri

II. Ganga

III.  Brahmaputra
IV. Godavari
(A) HIandIV
(C) Hand IV

S QAT A B -

(A) TR T3 o @Y 6

(B) HTEHhRI g &t ST ATel &S
(C) <% Hed Sb g ot I et
JTTRIIGR S &

AYad i gRI ot I ATt
oS U

Bank rate means

(A) Rate of profit of banking institutions
(B) Interest rate charged by

moneylenders
(C) Official rate of interest charged
(D)

Iand II
I and III

(B)
(D)

(D)

by the Central bank of the country

Interest rate charged by
scheduled banks

BETA21

i 42,

43.

44.

e 7R &fY. 317, Teohe HINTIUTA 1 Ter ¢ al

TG TSt O T STECENTT 2
(A) =g |

(B) g JTE I BATI |
(C) T4 4 HIg &

(D) ®eE |

If RBI reduces the cash reserve ratio,
what will happen to the credit creation ?

(A) It will increase.

(B) There will be no impact.
(C) None of these

(D) It will decrease.

3T ¥ fopm TehR i Srdeawen § ware
W e AR B § 3R o
Tfafafert =1 ger Jeea oy AT wE
B E ?

CNIREIES] (B) dsfiardt

(C) dfva=s (D) HuTSETE

In which of the following type of
economies, resources are owned

privately and the main objective behind
economic activities is profit-making ?

(A) Mixed (B) Capitalist
(C) Global (D) Socialist

93 o1 A1e Foheeh g XTeiNd &I & 2
(A) foaa=h

(B) 3TR.¥1.3708. TR

(C) faaataa

(D) W o Tgafd

The One Hundred rupee note bears the
signature of :

(A) Finance Minister

(B) RBI Governor

(C) Finance Secretary

(D) President of India
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45.

46.

47.

HAT (FEMA) 1 q0f €9 11 R 7
What is the full form of FEMA ?

(A) Finance and Export Management

Association
(B)
©)
(D)

Funds Exchange Media Agency
Foreign Export Market Agency

Foreign Exchange Management
Act

WA o AU H SF WY Ug TWeadl
fored wfirer @ 2

(A) wEgHH

(B) TSA g H

(C) T 4 IS Tl

(D) THadt gt o

The ‘Public Health and Sanitation’ is
included in Constitution of India in

(A) Union List

(B) State List

(C) None of these

(D) Concurrent List

T B U=t TS STaeT 36 3Tad Tl
TR

(A) T3 Hifd = Frewes a@

(B) e ferhT

(C) FHE R T

(D) TifeTeh A

Panchayati Raj System in India is laid
down under

(A) Directive Principles of State Policy
(B) Fundamental Rights

(C) None of these

(D) Fundamental Duties

i 48.

49.

50.

51.

319 T T 9T 918 B &

(A) FFTARE (B) WM

(C) FHABET (D) A
Current carriers in solid conductors are

(A) Free Electrons(B) Protons
(C) None of'these (D) Neutrons

Treqr o1 SAferepR weh Hiferes rferepm B, <
%wﬁlﬁ%

(A) ITTWE29TI 308

(B) 3=8¢21AH

(C) T4 B T

(D) 3T=8¢ 199

Right to Education is a fundamental
right, which is related to :

(A) Articles 29 and 30

(B) Article 21A

(C) None of these

(D) Article 19

= # o foeoa dfaum @ 9 Sgew
& T ?

(A) o.3TR. IR

(B) SETEAT 8&

(C) «i.ud. T

(D) TETcHT Meft

Who among the following moved the
‘Objective  Resolution’ in  the
Constituent Assembly ?

(A) B.R. Ambedkar

(B) Jawaharlal Nehru

(C) B.N.Rao
(D) Mahatma Gandhi

9y wigum % fhw sgeee #
ITeqEEThi % foa e & 2

(A) Ig=8e29 (B) IgesE 21

(C) THABETE (D) IT=eq 24

In which Article of Indian Constitution,

the interests of minorities are covered ?

(A) Article 29 (B) Article 21

(C) None of'these (D) Article 24
BETA21
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52.

53.

54.

5S.

56.

HeR # wgarad H g g

(A) frefmB  (B) faefmc
(C) THIBRTE (D) foeritm A
Orange contains abundance of

(A) Vitamin B (B) Vitamin C
(C) None of these (D) Vitamin A

[ _n»
196 56

(A) 324 (B) 18
(C) 212 (D) 14

TehTeT Y ferteh HTTH <l ST & 7

(A) T O H T o et g =it 75 G4 bl

(B) Ueh ¥ # AT} TTE Tehe hi i i

(C) TATESTETS shi TTfd 6

(D) TR e el 3 e g =l 1 gl <ht

Light year is a unit of measurement of

(A) Distance travelled by light in a
vacuum during one year

(B) Speed of Rocket measured in a year

(C) Speed of Aeroplane

(D) Distance travelled by sound in a
vacuum during one year

ST W7ot o1 THTIeh 18 I8 i & —
(A) HifIm SghTae (NaHCO5)

(B) hfcaad Tethe (CaSO,)

(C) uifgam FIsE (NaCl)

(D) hiceam ATRTeRINIES (CaOCl,)
The chemical name of Bleaching

powder is also
(A) Sodium bicarbonate (NaHCO3)

(B) Calcium sulphate (CaSO,)

(C) Sodium chloride (NaCl)
(D) Calcium oxychloride (CaOCl,)

18- 914 ¥ W EH 1 gl 8

The percentage of pure gold in 18-carat
gold is

(A) 80%
(C) 100%

(B) 60%
(D) 75%

BETA21

i 57.

S8.

59.

60.

~-10-

IR Raerfeat i 37aa 37 18.5a4 & | 3TN
%I <h! 37 it 3TH I 61 ST a3
W 20% G AT B, B HI ST :

(A) 34°d (B) 28ad

(C) 37°d (D) 31ed

The average age of four players is 18.5
years. If the age of the coach is also
included, the average age increases by
20%. The age of the coach is :

(A) 34 years (B) 28 years

(C) 37 years (D) 31 years

885x885x885+115x115x115 _
885x885+115x115-885x115

(A) 885 (B) 115
(C) 1000 (D) 770
J5-43
N T T B
ﬁ;ﬁis equal to :

+
(A) % B) 4+ 15
©) 1 (D) 4- 415

A T e 30% TH T Ih! fershl
20% 9G TS | GHTGR i T T IEeHT HT
JHTT TS ?

(A) 16%S¢l (B) 10% s@l

(C) 16% =t (D) 10% =t

On decreasing the price of T.V. sets by
30%, its sale is increased by 20%. What
is the effect on the revenue received by
the shopkeeper ?

(A) 16% increase (B)
(C) 16% decrease (D)

10% increase
10% decrease

D
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61. TR T GFR 9T garer 1 319 forfigw |
(A) QST
(B) Q& sl THT AT
(C) oY ST
(D) TS H wgd el
62. 3G I T = HIT |
(A) TEATHIAT  (B) HEEHIE
(C) wgamhien (D) HTgcaTehied
63. ‘Uehel 1 foreim vea @
(A) 39gh (B) &
(C) 3Tehedl (D) ==
64. ‘T HIYFFEEN BT ?
(A) =T (B) faw=r
(C) w@ifm= (D) 3EHN
65. ‘T ! 8 91T 919 o e = few e
forehed ® © e I16g YT
(A) wemEd (B) wHHi<
(C) wewt (D) WA

Directions : Read the passage carefully and
answer the corresponding questions : (66-68)

Nehru’s was a many-sided personality. He
enjoyed reading and writing books as much as
he enjoyed fighting political and social evils or
resisting tyranny. In him the scientist and the
humanist were held in perfect balance. While
he kept looking at social problems from a
scientific standpoint, he never forgot that we
should nourish the total man. As a scientist, he
refused to believe, in a benevolent power
interested in men’s affairs; but, as a self-
proclaimed non-believer, he loved affirming
his faith in life and the beauty of nature.
Children he adored. Unlike Wordsworth, he
did not see them trailing clouds of glory from
their recent sojourn in heaven. He saw them as
blossoms of promise and renewal, the only
hope for mankind.

D

—-11 -

i 66.

67.

68.

69.

70.

71.

A many-sided personality means

(A) aperson having varied interests
(B) acomplex personality

(C) acapable person.

(D) asecretive personality

Pt. Nehru enjoyed

(A) resisting tyranny.

(B) reading and writing books.

(C) doing all these and much more.
(D) fighting political and social evils.

Which of the following statements
reflects Pt. Nehru’s point of view ?

(A) Science and Humanism are equally
important.

(B) Humanism is more important than
Science.

(C) There is no common ground
between Science and Humanism.

(D) Science is supreme and Humanism

1s subordinate to it.

Give Synonym for the following :
Famous

(A) Popular
(C) Steady

(B) Awful
(D) Poor

Give Antonym for the following :
Transparent

(A) Opaque (B) Obvious
(C) Clear (D) Limpid

few U foepedt o & gufea vog w1 =T
ehIToTT

aefifers : gaft :: e - 2

(A) AHE (B) WY

(C) HafeR (D) 99

Select the related word from the given
alternatives :

Ornithologist : Birds :: Anthropologist : ?
(A) Mankind (B) Plants

(C) Environment (D) Animals

BETA21

https://www.freshersnow.com/previous-year-question-papers/



72.

73.

74.

75.

e fopeft e | 25 3T I AR 7, Tl IET
HEH © HiHar i e @
If the 25" of August in a year is

Thursday, the number of Mondays in
that month is

(A) 5
) 6

(B) 3
D) 4

I I76E 1 T hITTT ST THE o FTeh! ITeqi
Y AT 7 @ |

(A) d (B) &
(C) R (D) TG

Choose the word which is least like the
other words in the group.

(A) Oil (B) Curd
(C) Cheese (D) Butter

fepet fafead e § PRODUCTIONS @i
QQPCVEUHPMT fer@t wiren 2 | 56t e
T ORIENTATION fore SehR feran s 7
In a certain code, PRODUCTIONS is

written as QQPCVEUHPMT. How is
ORIENTATION written in that code ?

(A) PSJFOVBSINO
(B) PQJDOVBSINO
(C) NSHFMVBSJNO
(D) PQIDOUBUIPO

el ShT 3T 39TRT S BT Tfaet 3 v, 8
3h! A % I I kel 9o g 17 &,
fifget & form yepr Teftra 2 2

(A) =i (B) Fam

(C) w=lisgd (D) wdisf
Pointing towards Rita, Nikhil said, “T am

the only son of her mother’s son.” How
is Rita related to Nikhil ?

(A) Mother (B) Aunt
(C) Cousin (D) Niece

BETA21

' 76.

—-12 -

77.

L 78.

79.

I TP 1 Dl (COVAX) FSHT o
A HIfIS-19 I TR dod= TH el
TG SA B AT 2

(A) 3ThIHT (B) M I

(C) HeH (D) TSI
Which is first country to get free COVID-

19 vaccines through the COVAX scheme
of United Nations ?

(A) Africa (B) Ghana

(C) Sudan (D) Nigeria

= O 9 fopg wTeX | <SS B18H UiieHT
&1 foraTaee el g3 8 2

(A) =% (B) HATHAc

(C) e (D) T

In which of the following cities Light
House Project is not implemented ?
(A) Chennai (B) Agartala
(C) Patna (D) Ranchi

I T AT QU= ko foredt <hl wi=rell
Y A SIS | 2

(A) smsfen (B) Tromra-fasm
(C) drem®H (D) ¥R TIed
Which Indian telecom company is
world’s fifth strongest brand ?

(A) Idea (B) Reliance-Jio
(C) Vodafone (D) Bharti Airtel

qics (BOLD — Bamboo Oasis on Lands
in Drought) qTISHT BTt 21 | Wi o fohe
TSI 4 36 61 78 2

(A) far (B) TS

(C) "eEwem (D) EREmn

The Project BOLD (Bamboo Oasis on
Lands in Drought) was recently launched
from which state in India ?

(A) Bihar

(B) Rajasthan

(C) Madhya Pradesh

(D) Haryana
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80.

81.

82.

83.

Tpa WA TTe g0 BT &1 H 2019-

2020 o foTT 9,137 w8.3.+ (UDISE+)
& foam T 2
(A) Tmmme™  (B) TRy HAe™

(C) TEHAe™ (D) Teq wamem
Which Indian ministry recently launched
UDISE+ for 2019-2020?

(A) Ministry of Finance

(B) Ministry of Health

(C) Ministry of Home Affairs

(D) Ministry of Education

JaiE o I arel IRA™E A Sl gEd
IRt Aigen srafemh S & 2

(A) Tg=shae  (B) ol sreen
(C) Heqar et (D) S Sl
Who is the second Indian born American
woman astronaut to fly to space ?

(A) RituKaridhal (B) Sirisha Bandla
(C) Kalpana Chawla (D) Shreya Badla

3 TR TectH oh1 TH 1 8, S W a8l

T ST <k ToTQ <) wret o1 Sfererer e TR 2
(A) Wrfas  (B) ArmeaRed
(C) 9ad BHAR (D) gfid Afee

Name the Indian wrestler, who gets two-
year ban for doping recently.

(A) Ravinder Singh

(B) Yogeshwar Dutt

(C) Pawan Kumar

(D) Sumit Malik

YT %1 98 F 91 949 T 8, &l we-
¢-Tvg $-Hfeme yurref oy it A B 2
(A) T (B) S UH
(C) i (D) Tewr=ret Sew

Which State in India is

Goa

Uttar Pradesh
Haryana
Himachal Pradesh

(A)
(B)
©)
(D)

first state to
implement an end to end e-Cabinet System ?

13-

i 84.

8s.

| 86.

87.

fed g e e H raa s H R 2
(A) feoeht (B) sfifsm
(C) T (D) IE "

Which of the following is the capital of
Costa Rica ?

(A) Delhi (B) Beijing

(C) Dhaka (D) SanJose
TEHIA fmtar e = form fohehe Raeret
I I ST TraEeT e forarm 2

(A) Swmasmi  (B) fowe wiweh
(C) Bmrgas (D) w.wE. g

Smartphone maker ‘Vivo’ appointed
which cricketer as its brand ambassador?
(A) Ishant Sharma

(B) Virat Kohli

(C) Shikhar Dhawan

(D) M.S. Dhoni

anfehifre sefosia (Al) smeanfa e
“SUPACE” WIid ¥ Tor8 =Imamerd & fag
I[& fepat TR 2

(A) TE= =R

(B) feooh 3= =

(C) FTH A HIE T

(D) TSWId 3= AT

Artificial Intelligence (AI) based portal
‘SUPACE’ launched for which court in
India ?

(A) Supreme Court

(B) Delhi High Court

(C) None of these
(D) Gujarat High Court

TR AT TS Ut & ST |me Hid

g2

(A) oH (B) dr=

© (D) =R

How many Indian States share their

boundary with Nepal ?

(A) Three (B) Five

(C) Two (D) Four
BETA21
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88.

89.

90.

91.

BETA21

0 T IF 91 ¢ GTh (SAARC) &1 56
EEE

(A) FARMTEE  (B) 4T

(C) =M (D) ST

Which of the following countries is not a
member of SAARC ?

(A) Afghanistan (B) Nepal

(C) Myanmar (D) Bangladesh
SR Wx AGIT hl TS AT
fadawne?

(A) W 3IEHFT  (B) dHe
(C) fTagem (D) TR

Which among the following is the
official language of Union Territory of
Lakshadweep ?

(A)
(B)
©)
(D)

Great Andamanese
Tamil

Sinhala
Malayalam

A o TTILTH o STTHR b AT b T
1 TUhaH T F 1§ 2
As per Constitution of India, what is the

maximum  strength  (number  of
members) of the Lok Sabha ?

(A) 550 (B) 530
(C) 552 (D) 540

fe<t feaa’ pE TR AT B 2

(A) TE2 (B) Torawsw 14
(C) AF3 (D) 3FAF 1
When is ‘Hindi Diwas’ celebrated ?

(A) November2 (B) September 14
(C) October 3 (D) October 1

' 92,

14—

93.

o4,

9s.

e T SR TR o TR i 3 2
(A) Wigaadm (B) #eft. w=
(C) W & (D) Tfig meht
Who was the first Asian Winner of
Nobel Prize ?

(A)
(B)
©)
(D)

Rabindranath Tagore
C.V. Raman

Mother Teresa

Rajiv Gandhi

= 4 9 8 WH WS-t 6
e ferd & 7

(A) TEE (B) SR

(C) &> (D) feeeft

In which of the following places Ajanta-
Ellora caves are situated ?

(A) Aurangabad (B) Bengaluru
(C) Lucknow (D) Delhi

FNo fohe TR T /ST Test 1
HTEEhTeh 300d & ?

(A) dfeTg (B) r&H

(C) oHieH (D)

Onam is the cultural festival of which
Indian State/ UT ?

(A) Tamil Nadu (B) Assam

(C) Karnataka (D) Kerala
fafafed & 4 o9 @1 7= 9F * @@
TR B 7

(A) =T (B) gt

(C) o (D) =igHl

Which of the following planets is closest
to the Sun ?

(A) Mars
(C) Mercury

(B) Earth
(D) Moon
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fdwr : Tr=foriga e =t emgdes dfew qen 3a
T 3MTRA FET (96-100) IR FMHT -
TAA | G h! Taiferep1ati ol Ig1-da1 h
foTT gume S o forg TS | fava w1 sifgen
w1 3@ ygH fopam | wiiefSht et a9 fop U
3R 3Tfedn & g fowd o FHeR ¥ FHoR &ed i
off S ST ST TR 2 | 378 39 gl o
dveqor oft femar 3 T’ wee firg g | fa
¥ fean gt 8, g, Jom S ST <t & 3R I
¥ I i figlg Bl 8 | 31: I8 Hivad § f6
forn I 3fiv stféen < fova o wnf=a wenfia =i &
gehet | I o A9 H qHT 1M 61 fIewm

TEYd Tal | Teieh Y 1 TN 9&1 gl Al

2, STafer =gt quf wrife 3R g@ &1 2 a2 saum
T i bt SITd &1 | Hife g 8 =R
3R iy <6t 3afe off wrifoeprer ¥ & v gt 2,
31d: g1 Afg fIwa o1 shoamot a8 & a1 g4 Ig
SR HTAT &1 BT | AT SR UH 3 9raw1 &
forea & wnf=a Tefua st Bt vl fova & gema
TS WA T Sh1 T 99 BT |

96. forelt oft g & T -9 < yH@ a7 &
(A) 3TTEATH 3T IUTEHT
(B) o 3R v
(C) i, @ 3TN THTcHS Bt

(D) o9 3R T

i 97.

98.

99.

100.

“fraT=a’ sTeg <1 ITYH T B
(A) faftraq

(B) weftifer

© f=

(D) focigpa

ferga o wrifer <RIl atrevares B 2

(A) SR 3R FMN i 377 6 fog

(B) He Tfd o fereprd o forg

(C) 3R ¥ H3R ged ! o} HHa
o forg

(D) STHTH THTcHS 1 o T

Torgar wnifa b wemgaT < fofu =9 savaes
H

(A) Tt 3R Fefivar
(B) T 3w
(C) ufeem 3R A
(D) 3fewm 3R I

HAX U H3R BT bl H hiHA g91=7 S
HehdT &

(A) FifeEn g
(B) ¥ UTeH grRa
(©) wag

(D) HN e gRI

15—
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